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Yield problems
1.
The following reaction in a blast furnace was found to have a yield of 79%.

 Fe2O3  +  3 CO  [image: image5.jpg]


  2 Fe  +  3 CO2

Calculate the maximum mass of iron that could be made from 2.00 tonne (2.00 × 106 g) of iron(III) oxide.

2.
The following reaction is used to produce ammonia gas. Calculate the mass of hydrogen required to produce 100 kg of ammonia gas assuming the yield of the reaction is 67%.
3 H2(g)  +   N2(g)   [image: image2.png]


  2 NH3(g)  

3.
The following reaction was used to produce 1.50 tonnes (1.50 × 106 g) of sulfur trioxide from 2.20 tonnes of sulfur dioxide.
2 SO2(g)   +   O2(g)   [image: image3.png]


  2 SO3(g)  +  heat

a)
Calculate the percentage yield of this reaction.
b)
By increasing the pressure in the reaction vessel, the yield was increased to 75.0%. How much more sulfur trioxide would be produced from the same amount of sulfur dioxide?
c)
What volume of oxygen (measured at STP) would be used up in the situation described in b)?
Scroll down the page to check the answers.

Answers
1.
1.1 tonne
2.
26 kg
3.
a)
54.5%

b)
0.562 tonne


c)
2.89 × 105 L
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